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Noise Patterns

Instructions:

Cthcd�wntp�bghkc�sgpntfg�T�mnhrd�oTssdpm�trhmf�rsnlor �bkTor �rmTor �
np�Tmw�nsgdp�mnhrd�wnt�khjd-�

Dhprs+�odpenpl�sgd�mnhrd�o_ssdpm�enp�xntp�bghkc-�Idws+�hmrsptbs�xntp�bghkc�
sn�inhm�hm�nmbd�sgdx ud�“ftpdc�nts�sgd�o_ssdpm-

Many Ways to Make a Number

Instructions:

Gghmj�ne�znsgdp�mTldr“�enp�T�mtladp-�

Ohbj�_�mtladp�_mc�s_jd�stpmr�vhsg�xntp�bghkc�fhuhmf�ynsgdp�m_ldrfi�enp�
sgd�mtladp-�Dnp�dw_lokd+�he�sgd�bgnrdm�mtladp�hr�03+�nsgdp�m_ldr�_pd�
5�)�5+�02�)�0+�0.�)�3+�dsb-�Rdd�gnv�knmf�xnt�ansg�b_m�bnmshmtd-�

Adodmchmf�nm�sgd�_fd�_mc�kd_pmhmf�kdudk�ne�xntp�bghkc+�xnt�l_x�v_ms�
sn�rs_ps�vhsg� sgd�a_rhbr�ats� sgdm�opnfpdrr�ax�_cchmf� hm�m_ldr�vhsg�
rtasp_bshnm�’rtbg�_r�04�,�0(+�ltkshokhb_shnm�’1�÷�5(+�_mc�chuhrhnm�’03�—�0(-
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Snowball

Instructions:

.gTkkdmfd�wntp�bghkc�sn�znmd,to“�wnt�uhsg�naidbsr�ne�fpnuhmf�rhyd-�

Sgd�“prs�ok_xdp�sghmjr�ne�_m�naidbs�sg_s�hr�ahffdp�sg_m�_�rmnva_kk�_mc�
r_xr�y:�TTTTTT�hr�ahffdp�sg_m�_�rmnva_kk-fi�Sgd�mdws�ok_xdp�sgdm�sghmjr�
ne�_mnsgdp�naidbs�sg_s r�ahffdp�sg_m�sgd�“prs�ok_xdp r�naidbs�_mc�sdkkr�
sgd�mdws�ok_xdp�y:�TTTTTT�hr�ahffdp�sg_m�_�TTTTTT-fi�Ok_x�bnmshmtdr�tmshk�
nmd�ok_xdp�b_m s�sghmj�ne�rnldsghmf�ahffdp-�Sgd�k_rs�odprnm�sn�sghmj�ne�
_�ahffdp�naidbs�vhmr-

Nsgdp�v_xr�sn�ok_x7�Gmrsd_c�ne�sghmjhmf�ne�ahffdp�_mc�ahffdp�naidbsr+�
spx�sghmjhmf�ne�rl_kkdp�_mc�rl_kkdp�naidbsr�’y_�lntrd�hr�rl_kkdp�sg_m�_�
rmnva_kkfi(+�naidbsr�vhsg�lnpd�bnlonmdmsr�’y_�lntrd�g_r�lnpd�kdfr�
sg_m�_�rmnva_kkfi(+�np�naidbsr�vhsg nsgdp�npcdp_akd�_ssphatsdr�’y_�ansskd�
ne�v_sdp�hr�v_pldp�sg_m�_�rmnva_kkfi(-


